Figures Answer Key
Object 1: Perimeter of the scalene triangle 

Left side= 19.3cm
Right side= 25.5cm
Base= 11.5 cm 
Perimeter= 19.3cm  +  25.5cm  +  11.5 cm = 56.3cm
Object 2: Area of the equilateral triangle
Base=17.7cm 


Height =15.3


Area = .5 * 17.7cm * 15.3cm= 135.4cm2
Object 3: Perimeter of the octagon
All sides=6.8cm

Perimeter = 8*6.8cm = 54.4cm
Object 4: Area of the rectangle


Base= 17.7cm
Height =13.2cm


Area= 17.7cm * 13.2cm = 233.64cm2
Object 5: Perimeter of the trapezoid

Base= 17.8cm
Top=8.9cm
Sides=14.2cm

Perimeter= 17.8cm + 8.9cm + 14.1cm + 14.1cm = 54.9cm
Object 6: Area if the isosceles triangle

Base=15.2cm
Height =17.5cm

Area= .5 * 15.2cm * 17.5cm = 133cm2
Object 7: Perimeter of the pentagon


All sides=11cm

Perimeter= 5 * 11cm = 55cm
Object 8: Area of the Parallelogram 
Base=13.3cm
Height=13.4cm

Area = 13.3cm * 13.4cm = 178.22cm2
